PLANT ENTERPRISES PRODUCTION

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
FORESTRY						
Pulpwood						
Pine				487,823	cords	
Hardwood				42,778	cords	
Pulpwood (Total)				530,601		
Chip & Saw				25,821	cords	
Saw Timber						
Pine				103,376,015	board feet	
Hardwood				3,318,309	board feet	
Saw Timber (Total)				106,694,324		
Total Pulpwood, Chip & Saw Saw Timber FOB Mill	,					\$88,073,057
Total Forestry Stumpage						\$50,151,108
Christmas Trees	*			500	trees	\$20,000
Forestry (Total)						\$88,093,057
FRUITS						
Blueberries	*	5.0	2,000.00	10,000	lbs.	\$12,500
Peaches	*	30.0	100.00	3,000	bu.	\$90,000
Fruits (Total)		35.0				\$102,500
HAY FOR SALE						
Grass	*	100.0	2.00	200	tons	\$10,000
Hay for Sale (Total)		100.0				\$10,000
HOME GARDENS	1,800					\$540,000
NURSERY CROPS						
Floraculture & Bedding Plants	*				acre	\$25,000
Foliage Plants	*				acre	\$10,000
Nursery Crops (Total)						\$35,000

PLANT ENTERPRISES PRODUCTION

Crop	umber of Producers	Acres	Yield per Acre	Total Production	Units of Measure	Gross Farm Value
VEGETABLES						
Southern Peas (Fresh)	6	20.0	90.00	1,800	bu. (24 lbs.)	\$45,000
Sweet Corn (Fresh)	*	12.0	600.00	7,200	doz. ears	\$25,200
Turnips (Fresh)	*	4.0	400.00	1,600	doz. bunches	\$11,200
Watermelon	*	4.0	150.00	600	cwt.	\$4,800
Vegetables (Total)		40.0				\$86,200
TOTAL ALL PLANT ENTERPH	RISES					\$88,866,757

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

Fisheries	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
FUR ANIMALS			308	pelts	\$2,261
HUNTING LEASES					
All Other Game	40	350,000 No. Acres		acre	\$1,925,000
		Leased			
Hunting Leases (Total)					\$1,925,000
TOTAL ALL FISHERIES & WILDLIFE ENTERPRISES					\$1,927,261

ANIMAL ENTERPRISES PRODUCTION

	Number of	Units of	Total	Units of	Gross Farm
Animal	Producers	Production	Production	Measure	Value
CATTLE & CALVES					
Steer Calves					
300-400 lbs.			600	head	\$265,734
400-500 lbs.			1,100	head	\$555,291
500-600 lbs.			1,500	head	\$838,613
600-700 lbs.			600	head	\$382,200
Steer Calves (Total)					\$2,041,838
Heifer Calves					
300-400 lbs.			600	head	\$241,899
400-500 lbs.			1,400	head	\$651,105
500-600 lbs.			1,000	head	\$527,835
600-700 lbs.			400	head	\$239,200
Heifer Calves (Total)					\$1,660,039
Yearling Cattle					
600-700 lbs.				head	\$127,400
700-800 lbs.			200	head	\$138,000
Yearling Cattle (Total)					\$265,400
Cow-Calf Pairs				pair	\$380,000
Cull Cows			1,000	head	\$410,635
Cull Bulls			50	head	\$45,923
Cattle & Calves (Total)	300	9,500 No. Cows			\$4,803,834
DAIRY					
Dairy Cows					
Milk	*	485 No. Adult Cows	6,150,953		\$1,013,677
Bred Heifers				head	\$30,000
Adult Cows				head	\$65,000
Cull Cows				head	\$75,375
Bull Calves			248	head	\$14,880

ANIMAL ENTERPRISES PRODUCTION

	ANIMA	AL ENTERPRISES	<u>S PRODUCTIO</u>	<u>N</u>		
Animal	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value
DAIRY						
Dairy Cows (Total)						\$1,198,932
Dairy (Total)						\$1,198,932
HORSES						
Brood Mares						
Race Horses	*	20	No. Brood Mares	10	head	\$80,000
Show Horses	10	50	No. Brood Mares	30	head	\$105,000
Recreation Horses	37	130	No. Brood Mares	120	head	\$180,000
Brood Mares (Total)						\$365,000
Stud Fees						
Race Horses			No. Stallions	10	mares bred	\$20,000
Show Horses		3	No. Stallions	30	mares bred	\$45,000
Recreation Horses		8	No. Stallions	80	mares bred	\$16,000
Stud Fees (Total)						\$81,000
Race Horses	6				head	\$200,000
Show Horses	50			75	head	\$300,000
Recreation Horses	150			180	head	\$270,000
Horses (Total)						\$1,216,000
POULTRY						
Broilers	75			120,000,000		\$90,000,000
Breeder Flocks	6	1,410,000	No. Birds		doz. hatching	
					eggs sold	
Poultry (Total)						\$90,000,000
GOATS						
Show Goats				10	head	\$1,850
Slaughter Goats				20	head	\$2,100
Stocker Goats				120	head	\$10,200
Cull Goats				40	head	\$2,400

ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value
Goats (Total)	10	150 No.	Does			\$16,550
EXOTIC ANIMALS						
Deer/Antelope	*	10 No.	Animals	10	head	\$1,250
Exotic Animals (Total)						\$1,250
NEW - BRED HEIFERS	*	600 600	hd	1,000	Value	\$600,000
TOTAL ALL ANIMAL EN	TERPRISES					\$97,236,566
SABINE PARISH TOTA	AL					\$188,030,584